KENDRIYA VIDYALAYA MATI, SHIFT -1 (2022-23)
HOLIDAY’S HOMEWORK (AUTUMN BREAK)
CLASS - 11

ENGLISH

1. Daily practice 1 page of writing.

2. Write any 10 Naming words.

3. Recite the poem- “Mr Nobody.”

4. Write days of the week in a proper sequence.
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EVS

. 1st- day - Introduction to yourself. With your picture. (Notebook work )
. 2nd day — Write the colour name of Rainbow. (Notebook work)

a. Drawing the Rainbow A4 paper.

. 3rd day and 4th day — 1. Draw the part of plants.

a. Draw the part of the tree.

. 5th and 6th, 7th day — Make the poster.

a. Save the water.

b. Cycle of water.

. 8th and 9th day — Make the model of clouds on paper chart.

. 10th day — Our helpers work (notebook work)



MATHEMATICS

1.Learn and write counting from 1 to 100.
2.Learn and write number names from 1 to 100.
3.Learn and write tables from 2 to 10.

4.Do 6 questions of addition

42+63= . 83+24=
28+51=_. 30+78=
34+23= . 38+11=
5. Do 6 questions of subtraction
63-42= 34-23=
51-20= 83-24=

78-30 = 38-11=



6. Do the following worksheets.

Write the no. of 10 rupee-note and 1 rupee-coin that would be needed
to buy these things. One has been done for you:

(@) 92= ( nine m notes and[ two . coins
(b) 38= m notes and[ . coins
(€ 24= | m notes and[ . coins
(d 79= h Jm notes and{ J . coins
() 34= [ m notes and[ . coins
(f) 66= ( m notes and[ . coins
(9 71= [ ﬁm notes and[ . coins
(h) 80= [ m notes and[ . coins
(i) 18= [ m notes and[ \ . coins
() 45= [ m notes and[ . coins
(k) 28= [ m notes and[ . coins
() 67= [ m notes and[ . coins
(m) 22= [ m notes and( \ . coins
(n) 26= [ m notes and[ . coins
(o) 56= [ m notes and[ . coins
(p) 29= [ m notes and[ . coins



Write the expanded form. One has been done for you:

25= 20+5 34 = 68 =
47 = 76 = 77 =
2 = 48 = 46 =
90 = 10 = g9 —
19 = 14 = 19 = AR
82 = 27 = 71 =
49 = 53 = 38 =
28 = 96 = 28 =
26 = 16 = 35 =

Write the short form. One has been done for you:

60+2=__ 70+41=___ 90+4=___ _ 60+4+5=__
90+5=__ 80+5=__  80+2=___ 10+2=___
40+9=__  90+9=__ 50+8=__  70+8=___
80+4= 20+ 2= 80+1=__  40+4=

20+ 9= 60+ 7= 30+8= 80+8=

10+2= 80+2= 80+7= 30+4=

90 +6= 20+9= 60+2= 10+8=

40+4= 70+4= 70+5= 20+2= it Se



